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2022
PHILOSOPHY — GENERAL

Paper : SEC-A-2

(Business Ethics)

Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.

×

‘Moral’ Latin 

moralis moralic

morilitic
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stakeholders
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[English Version]
The figures in the margin indicate full marks.

1. Choose the correct answer (any ten) : 1×10

(a) The word ‘moral’ is derived from the Latin word

(i) moralis (ii) moralic

(iii) morilitic (iv) none of these.

(b) Which of the following is not the subject matter of ethics?

(i) Voluntary action

(ii) Social work

(iii) Distinction between right and wrong

(iv) Moral principle.

(c) Which one of the following natural resources is not under the threat of being decreased?

(i) Water (ii) Oxygen

(iii) Natural oil (iv) Solar energy.

(d) Ethical advertisement displays

(i) honesty (ii) partiality

(iii) displayability (iv) artificiality.

(e) When was the Consumer Protection Act passed in India?

(i) 1968 (ii) 1986

(iii) 1984 (iv) 1976.

(f) Which of the following study is not relevant in the scope of business ethics?

(i) Economics (ii) Sociology

(iii) Philosophy of religion (iv) Environmental ethics.
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(g) Culture is

(i) acquired (ii) programmed /planned

(iii) inherited (iv) all of these.

(h) Which of the following quality/qualities a leader should have?

(i) technical knowledge (ii) empathy

(iii) initiative (iv) all of these.

(i) Who are the stakeholders in a business organization?

(i) buyer (ii) employer

(iii) community (iv) all of these.

(j) Which of the following is not acceptable in the ethics of business.

(i) Storage of commodities for the purpose of excessive profit.

(ii) To give importance to merit instead of recommendation in employment.

(iii) Business should be under government laws of control.

(iv) All of the above.

(k) What does Globalization create?

(i) New employment opportunity (ii) Sevices

(iii) Vast competition (iv) All of these.

(l) According to the principles of Human Resource Management, which line of conduct should be
adopted when a worker gets physically injured at workplace?

(i) He should be compensated according to the policies of the company.

(ii) He should be terminated from the company.

(iii) He should be compelled to retire from his services.

(iv) All of the above.

2. Answer in brief (any five) : 5×5
(a) What is moral dilemma? Explain in the content of business ethics.
(b) Explain the arguments in favour of business ethics.
(c) Discuss the code of conduct of a business organization.
(d) Explain the importance of ethics in workplace.
(e) Distinguish between ethical advertising and unethical advertising.
(f) Discuss the ethical issues in marketing.
(g) Explain the relation between understanding ethics and understanding values in ethics.
(h) What is green business? Explain in brief.
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3. Answer any three questions :
(a) Discuss the advantages and disadvantages of Globalization. 15
(b) What is depletable natural resources? Discuss the role of business ethics regarding conservation of

these resources. 5+10
(c) Discuss in brief, the significance of human resource management in business ethics. 15
(d) Discuss the ethical issues in business. 15
(e) Explain the relation between environment and business ethics. 15


